Unit:inch

Pa]f‘t L]_ St WDC2418-WDC2418BGF1
No| Picture Specification Qty ] 5 3
A Screw @3*1/2" 24 | X A ‘
B Screw &3*5/8" 4 a i
C Screw J4*5/8" 2 | g E ‘
D * "| 24 )
SCI’?W il 3_/] “ k Face ﬁb Left Face 02
E 135° Metal Clip 6 Door Frame Side Panel
F Hinges 2
G Bumper 2 4 ‘ . 6
2 D I 17
Right Face R Left Back 16 1/4° RightBack 16 1/4"
Side Panel Side Panel Side Panel
/ 23 1/16" 3 23 1/16" 7
, o -
= > |
| e
Top Bottom Back \V
Panel Panel Panel




Assembly instructions

Picture| Specification [Qty[No| Picture| Specification [Qty

Screw @3*1/2" 24 | E % 135° MetalClip | 6
Screw @3*5/8" 4 | F Hinges %
e

N

Ry

{ Screw @4*5/8" 2 |G Bumper
Screw @4*1 3/16'1 24

page | of 2
WDC2412-WDC2418
WDC2412BGFI - WDC2418BGFI




page 2 of 2

W2412-WDC2418
W2412BGFI - WDC2418BGFI




